Geometry ORQ

Chapter 9

SKIS RUBRIC
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Task









Points
Draw closet with dimensions labeled.





2
Draw in skis.









1
Draw diagonal into bottom.






1
Student states that right triangles are formed.



1
Student uses the Pythagorean Theorem to find the diagonal 
in the bottom of the closet. 





         2
      
32 + 32 = x2

  9 + 9 = x2

                        18 = x2

                  
[image: image2.wmf]x

=

2

3


Student uses Pythagorean Theorem to find the possible placement 
of the   skis.
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2 + 52 = Y2

          18 + 25 = Y2

                     43 = Y2
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 = Y    

            6.6 ≈ Y
Student states that the skis will fit in the closet since the length from the left bottom corner to the top right corner is more than the length of the skis (or any other combination).
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       Total Points:  13 

Conversion Table:
	Score
	Point Range

	4
	13

	3
	10-12

	2
	6-9

	1
	1-5

	0
	0

	Blank
	Blank


3 feet





5 feet





3 feet





Y= 6.6 feet





x = 3√2
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